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Water consumption in Yemen and how to regulate it
Inside greenhouses in a modern scientific method

introduction:-

Yemen is one of the countries that suffer from
water scarcity, scarcity of rain, and the absence of
rivers.

In spite of that, a severe depletion of water was
violated, which not everyone was able to do
Renewable groundwater resources are estimated at
1,500 cubic meters per year and the annual demand
for water for agricultural, domestic and industrial use
IS 3.900 million cubic meters per year. It far exceeds
renewable water from both surface and groundwater
What does a farmer do? The land is irrigated by
surface irrigation and only so is known.

What happens when irrigating this method, the
surface irrigation that the farmer deals with. The first
five cm of the soil is wet and reached to the wet stage,
and the water descends after that, with the earth's
gravity, it seeps down and the plant is not benefited
from it. In the first meter of soil the water moves in
contrast to the ground gravity. The form of water
vapor and part of it mixed with oxygen and given soft
water to the plant, which IS ET



n this part, which we are thinking about is (T) as well
as (E), we are trying in a water-poor country and its
main sources to think about how to give the plant a
capacity of lost water only so that the plant takes its
right from the water in exchange for giving us higher
production at lower costs. Vegetable crops make up
14% of agricultural products, as well as khat accounts
for 35% of the agricultural product.

main goal of the project
Reducing the water used for irrigation

Sub-goals

* Less amount of water to produce an economically
valuable crop

* Qualifying a cadre of crop merchants and producers
on what is new.

 Rehabilitation of a cadre of young people at risk
who have a desire to work in the private sector in this
field, i.e. farmers under greenhouses

work plan :-

Business plan for the project: -

Before talking about the station of work, we will give
an idea about the beginning of the spread of
greenhouses in Yemen and why we prefer them now.



A farmer was said in the 1980s, he used to directly
grow vegetable crops in the open field

Until one of the merchants in the governorate of
Sana'a started buying some greenhouses or
greenhouses and cultivating them inside

But the failure of this trader and others among
the merchants due to the different climates in
Yemen that help produce the same crop in the
year throughout the year without problems

But we found ourselves facing one question,
which is how to conserve water and reduce its
consumption

It was found from the research that drip irrigation
inside the greenhouse reduced the water
consumption of the open field by an average of
60%, and thus began to think again in the
greenhouse to reduce the water consumption.

And in our plan of action is to calculate and replace
the weight of water lost by transpiration.

The method of work:-

A greenhouse is planted with a length of 40 * 8 m,
with the crops of civilization, for example, cucumbers
or otherwise

 The greenhouse shall be covered with white
linoleum, in order to reduce the absorption of sunlight
Inside the greenhouse



» Mixing soil with sand, bet moss and organic
materials in bags and the size of the bag according to
the type of plant and the depth of root spread
 Packaging the agricultural environment in perforated
bags from the bottom with paper punch, equivalent to
10 perforations, so that the water can be drained from
the bags and ventilated

The size of the bag if planting a cucumber will be 50
*50* 50 cm

* Cucumber seedlings are grown in these bags

 The bags are placed on the commercial balance and
the media is weighed with the bag and the weight of
all the greenhouse bags is fixed.

» A sample of these is placed for bags after planting
them on the and n Balance

arrated to everyone for the saturation stage, and a
block resistant or tenchometer is placed to measure
the available water in a group of plants, and the
available water is measured also measured by weight

» How to irrigate - there will be an irrigation network
that reaches each plant separately and is connected to
the irrigation network through a float in the irrigation
trenches, so that if the plant is lost to the scale, the
float will start through the network with automatic
irrigation by connecting a single net to the network
with irrigation. It is preferred to add a bell to alert that
there is irrigation.



e The irrigation network will have a filter and a meter
in order to calculate the amount of water consumed
e Irrigation will be microjet bibs.

Note:-

* In this case, the loss of water will be the loss through
transpiration and measuring the amount of water lost
through transpiration through the scale.

 Evaporation will be preserved by covering the
agricultural environment with burlap or sponge

After the saturation phase reaches.

» What is required for the work plan: -

» Greenhouses are available

* Water tank available

An integrated irrigation network
e commercial scales

* seedlings

Pesticides

Fertilizers

» Collection boxes

* his workers

Filters

* Others Training and qualification

After approval of the project idea, there will be
training on the modern method, which is not


https://translate.google.com/?um=1&ie=UTF-8&hl=ar&client=tw-ob#ar/en/%D9%85%D9%84%D8%A7%D8%AD%D8%B8%D9%87:-%0A%E2%80%A2%09%D9%81%D9%89%20%D9%87%D8%B0%D9%87%20%D8%A7%D9%84%D8%AD%D8%A7%D9%84%D9%87%20%D8%B3%D9%8A%D9%83%D9%88%D9%86%20%D8%A7%D9%84%D9%81%D9%82%D8%AF%20%D9%81%D9%89%20%D8%A7%D9%84%D9%85%D8%A7%D8%A1%20%D9%87%

known to greenhouse farmers, i.e. owners of
small and medium enterprises, and young
females and males who have an interest in trade
and profit in this field

Time period
» 2-3 years with follow-up

The cost:-
There will be a project cost
e Include buying tools
e Material
e workers

Training cost: -
Its coaches cost
e Secretarial
e Trainees
According to what was decided by you



